

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

WOASI	S			Jump to	FORMS	6 G0	😭 Home	& Personalize	Accessibility	P App Help	🛛 🚺 About	it 👔
elcome, Lu Anne Cottrill			1	rement Budgeting			Accounts	Payable				
licitation Response(SR) Dept: 0210	ID: ESR062321000000	08388 Ver.: 1 Functio	on: New Phase: Final	Modified b	y batch , 06/29	9/2021						
Header												
										E	List View	/
General Information Contact De	efault Values Discount	Document Information	Clarification Request									
Procurement Folder:	876766				SO Doo	c Code: C	RFQ					
Procurement Type:	Central Master Agreement	t			S	O Dept: 0	210					
Vendor ID:	VS000007634	2			SO	Doc ID: 18	SC210000003	2				
Legal Name:	Prosource Inc				Publishe	ed Date: 6	/23/21					
Alias/DBA:					Clos	se Date: 6	/29/21					
Total Bid:	\$350,382.00					e Time: 1						
Response Date:	06/23/2021					Status: C						
Response Time:	9:13			So	licitation Desc		Black and Wh Maintenance		\bigcirc			
Responded By User ID:	msalmons	1		Total of	Header Attach	ments: 0						
First Name:	Mark			Tota	al of All Attach	ments: 0						
Last Name:	Salmons											
Email:	msalmons@totalprosourc											
Phone:	304-964-3013											



Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia **Solicitation Response**

Proc Folder:	876766	876766						
Solicitation Description:	Black and White	Black and White Printers w/ Maintenance and Clicks (OT21131)						
Proc Type:	Central Master A	Central Master Agreement						
Solicitation Closes		Solicitation Response	Version					
2021-06-29 13:30		SR 0210 ESR0623210000008388	1					

VENDOR					
VS000007634 Prosource Inc					
Solicitation Number:	CRFQ 0210 ISC2100000032				
Total Bid:	350382	Response Date:	2021-06-23	Response Time:	09:13:21
Comments:					

OR INFORMATION CONTACT THE BUYER essica S Chambers 304) 558-0246 essica.s.chambers@wv.gov			
/endor Signature X	FEIN#	DATE	

Signature X

F

Ŀ

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	3.1.1 Black and White Printers	2.00000	EA	69471.000000	138942.00

Comm Code	Manufacturer	Specification	Model #	
43212100				

Commodity Line Comments: he cost each is \$69471.00. Total for 2 units is \$138,942.00

Extended Description:

3.1.1 - Two Printers, Installation, and Training Services

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	3.1.2 Maintenance Services for One Black and White Printer	12.00000	МО	2040.000000	24480.00

Comm Code	Manufacturer	Specification	Model #	
81112306				

Commodity Line Comments: This covers 500,000 impressions per month.

Extended Description:

3.1.2 - Monthly Maintenance Services for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	3.1.3 Maintenance Services for One Black and White Printer	12.00000	МО	2040.000000	24480.00

Comm Code	Manufacturer	Specification	Model #	
81112306				

Commodity Line Comments: This covers 500,000 impressions per month. 12 months is \$24,480

Extended Description:

3.1.3 - Monthly Maintenance Services for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	3.1.4 Click Charges for One Black and White Printer	500000.00	DEA	0.003900	1950.00

Comm Code	Manufacturer	Specification	Model #	
82121500				

Commodity Line Comments: This is the cost per impression. 500,000 is \$2040.00

Extended Description:

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	3.1.5 Click Charges for One Black and White Printer	500000.00) EA	0.003900	1950.00

Comm Code	Manufacturer	Specification	Model #	
82121500				

Extended Description:

3.1.5 - Click Charges for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Maintenance Services for One Black and White Printer-YR2	12.00000	МО	2040.000000	24480.00

Comm Code	Manufacturer	Specification	Model #	
81112306				

Commodity Line Comments: This is the monthly cost. 12 months is \$24,480

Extended Description:

3.1.2 - Monthly Maintenance Services for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Maintenance Services for One Black and White Printer-Y2	12.00000	МО	2040.000000	24480.00

Comm Code	Manufacturer	Specification	Model #	
81112306				

Commodity Line Comments: This is the monthly cost. 12 months is \$24,480

Extended Description:

3.1.3 - Monthly Maintenance Services for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	Click Charges for One Black and White Printer-YR2	500000.0	00 EA	0.003900	1950.00

Comm Code	Manufacturer	Specification	Model #	
82121500				

Commodity Line Comments: This is the cost per impression. 500,000 is \$2040.00

Extended Description:

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	Click Charges for One Black and White Printer-YR2	500000.	00 EA	0.003900	1950.00

Comm Code	Manufacturer	Specification	Model #	
82121500				

Extended Description:

3.1.4 - Click Charges for One of the Printers

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Maintenance Services for One Black and White Printer-YR3	12.00000	МО	2040.000000	24480.00

Comm Code	Manufacturer	Specification	Model #	
81112306				

Commodity Line Comments: This covers 500,000 impressions per month. 12 months is \$24,480

Extended Description:

3.1.2 - Monthly Maintenance Services for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Maintenance Services for One Black and White Printer-YR3	12.00000	МО	2040.000000	24480.00

Comm Code	Manufacturer	Specification	Model #	
81112306				

Commodity Line Comments: This covers 500,000 impressions per month. 12 months is \$24,480

Extended Description:

3.1.2 - Monthly Maintenance Services for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Click Charges for One Black and White Printer-YR3	500000	.00 EA	0.003900	1950.00

Comm Code	Manufacturer	Specification	Model #	
82121500				

Commodity Line Comments: This is the cost per impression. 500,000 is \$2040.00

Extended Description:

13 Click Charges for One Black and White 500000.00 EA 0.003900 1950.00 Printer-YR3	

Comm Code	Manufacturer	Specification	Model #	
82121500				

Extended Description:

3.1.4 - Click Charges for One of the Printers

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	Maintenance Services for One Black and White Printer-YR4	12.00000	МО	2040.000000	24480.00

Comm Code	Manufacturer	Specification	Model #	
81112306				

Commodity Line Comments: This is the monthly cost. 12 months is \$24,480

Extended Description:

3.1.2 - Monthly Maintenance Services for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Maintenance Services for One Black and White Printer-YR4	12.00000	МО	2040.000000	24480.00

Comm Code	Manufacturer	Specification	Model #	
81112306				

Commodity Line Comments: This is the monthly cost. 12 months is \$24,480

Extended Description:

3.1.2 - Monthly Maintenance Services for One of the Printers.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
16	Click Charges for One Black and White Printer-YR4	500000.	00 EA	0.003900	1950.00

Comm Code	Manufacturer	Specification	Model #	
82121500				

Commodity Line Comments: This is the cost per impression. 500,000 is \$2040.00

Extended Description:

Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
17	Click Charges for One Black and White Printer-YR4		500000.00 EA 0.003900		0.003900	1950.00
0	Comm Code Manufacturer		Specification		tion	Model #
Comm	Code	Manufacturer		Specifica		WOUEI #
821218		Manufacturer		Specifica		

Extended Description: